		Hrs/Rate	Amount
3/18/2021 KLC	Review motion to set aside forfeiture for potential objection	0.25 \$200.00/hr	\$50.00
JFH	Review and reply to correspondence from Asst. Superintendent re: Title IX matter	0.50 \$215.00/hr	\$107.50
3/19/2021 AFL	Research Title IX regulation in preparation to advise client re: same	0.25 \$200.00/hr	\$50.00
PJL	Review Motions to Set Aside Bond Forfeiture to determine whether to file an objection; research re: evidence attached to MTSAs	0.25 \$115.00/hr	\$28.75
JFH	Correspondence with Asst. Superintendent re: Title IX matter (.25 not billed)	0.00 N \$215.00/hr	IO CHARGE
3/23/2021 JFH	Review Apple refresh lease documents, draft opinion of counsel letter for same, correspondence with CTO re: same; telephone conference with COO re: consultant selection for construction project matter; review and compile documents for public records request re: used equipment RFP	4.00 \$215.00/hr	\$860.00
3/24/2021 JFH	Review and compile documents for public records request re: used equipment RFP	0.75 \$215.00/hr	\$161.25
3/25/2021 PJL	Review Motions to Set Aside Bond Forfeiture to determine whether to file an objection	0.25 \$115.00/hr	\$28.75
JFH	Review and compile documents for public records request re: used equipment RFP, correspondence with CTO re: same, online meeting with contractor representatives, review RFP protest terms, applicable Board policies, draft correspondence to bidders re: same	5.50 \$215.00/hr	\$1,182.50
JFH	Research, draft and finalize multiple Attorney-Client memorandum re: Senate Bill 220 (regular education and special education issues); contract renewal laws and multiple public records requests (time divided among multiple clients)	1.25 \$215.00/hr	\$268.75
3/26/2021 PJL	Review Motions to Set Aside Bond Forfeiture to determine whether to file an objection	0.25 \$115.00/hr	\$28.75
KLC	Advisor #2021-8: New leave extensions under the American Relief Act, Vaccinations, New Toolkit Updates and the ABC Collaboration (time divided among all clients)	0.50 \$200.00/hr	\$100.00
3/29/2021 PJL	Review Motions to Set Aside Bond Forfeiture to determine whether to file an objection	0.25 \$115.00/hr	\$28 .75
JFH	Review and reply to correspondence from COO re: service RFP for driver education, review correspondence re: bid protests	1.00 \$215.00/hr	\$215.00

CAMPBELL SHATLEY, PLLC

674 MERRIMON AVENUE SUITE 210 ASHEVILLE, NC 28804

Mrs. Kathy Amos Yancey County Schools P. O. Box 190 Burnsville, NC 28714

In Reference To: General Matters

Invoice # 8376

Professional Services

			Hrs/Rate	Amount
3/1/2021	JFH	Review and reply to Superintendent re: public records request for school safety plans	0.25 \$235.00/hr	\$58.75
3/3/2021	JFH	Telephone conference with Superintendent re: legal matter, student matter, employee matters	0.75 \$235.00/hr	\$176.25
3/10/2021	JFH	Telephone conference with Superintendent re: SB220, emergency meetings	0.25 \$235.00/hr	\$58.75
3/15/2021	JFH	Review and reply to correspondence from Superintendent re: policy matter	0.50 \$235.00/hr	\$117.50
3/23/2021	JFH	Review correspondence re: employee matter, telephone conference with Superintendent re: same	1.00 \$235.00/hr	\$235.00
3/25/2021	CZC	Research, draft and finalize multiple Attorney-Client memorandum re: Senate Bill 220 (regular education and special education issues); contract renewal laws and multiple public records requests (time divided among multiple clients)	1.25 \$235.00/hr	\$293.75
3/26/2021	KLC	Telephone call with EC Director re: multiple IEP issues	1.25 \$200.00/hr	\$250.00
	AFL	Advisor #2021-8: New leave extensions under the American Relief Act, Vaccinations, New Toolkit Updates and the ABC Collaboration (time divided among all clients)	0.50 \$200.00/hr	\$100.00
3/31/2021	JFH	Analyze documentation re: employee matter	0.25 \$235.00/hr	\$58.75
	KLC	Advisor re: PowerSchool addition of Preferred Name field (time divided among multiple clients)	0.25 \$200.00/hr	\$50.00
	For profe	essional services rendered	6.25	\$1,398.75

		Hrs/Rate	Amount
3/16/2021 PJL	Prepare objection to motion to set aside bond forfeiture; telephone conference with Deputy Clerk re: scheduling	0.00 N \$115.00/hr	O CHARGE
JFH	Telephone conference with Superintendent re: employee matter	0.25 \$215.00/hr	\$53.75
3/18/2021 PJL	Review Motions to Set Aside Bond Forfeiture to determine whether to file an objection	0.25 \$115.00/hr	\$28.75
JFH	Telephone conference with Superintendent re: employee matter	0.25 \$215.00/hr	\$53.75
3/22/2021 PJL	Review Motions to Set Aside Bond Forfeiture to determine whether to file an objection	0.25 \$115.00/hr	\$28.75
3/23/2021 JFH	Finalize dental services MOA, forward to Superintendent for signatures	0.25 \$215.00/hr	\$53.75
3/25/2021 KLC	Research, draft and finalize multiple Attorney-Client memorandum re: Senate Bill 220 (regular education and special education issues); contract renewal laws and multiple public records requests (time divided among multiple clients)	1.25 \$200.00/hr	\$250.00
3/26/2021 KLC	Advisor #2021-8: New leave extensions under the American Relief Act, Vaccinations, New Toolkit Updates and the ABC Collaboration (time divided among all clients)	0.50 \$200.00/hr	\$100.00
3/30/2021 PJL	Receipt of correspondence from attorney for surety, telephone conference with deputy clerk re: evidence to support Motion to Set Aside; prepare Notice of Withdrawal of objection to Motion to Set Aside and prepare cover letter requesting same be filed with the Court; transmit same to all parties	0.75 \$115.00/hr	\$86.25
KLC	Review amended motion to set aside and supporting documents; review notice of withdrawal for objection to motion to set aside resame	0.50 \$200.00/hr	\$100.00
3/31/2021 KLC	Advisor re: PowerSchool addition of Preferred Name field (time divided among multiple clients)	0.25 \$200.00/hr	\$50.00
For prof	essional services rendered	14.25	\$2,786.25
Addition	al Charges:		
3/11/2021 JFH R	oundtrip to Bakersville		\$73.92
3/31/2021 KWC N	C Admin of the Courts, Access fee, March 2021		\$1.47
Total ad	ditional charges		\$75.39

				Hrs/Rate	Amount
3/22/202	/2021 JFH Review correspondence from principal re: employee matter; round-trip travel to Franklin, attend regular meeting (.5 not billed) \$210.00/l				\$1,050.00
3/23/202	Review and reply to correspondence re: public records request; review documentation re: employee matter \$210.00/				\$210.00
3/24/202	1 JFH	FH Correspondence with architect re: construction contract matter 0.50 \$210.00/hr			\$105.00
3/25/202	1 PJL	Review Motions to Set Aside Bond Forfeiture to determine whe file an objection	ther to	0.25 \$115.00/hr	\$28.75
	JFH	Research, draft and finalize multiple Attorney-Client memorand Senate Bill 220 (regular education and special education issues contract renewal laws and multiple public records requests (time divided among multiple clients)	s);	1.25 \$210.00/hr	\$262.50
3/26/2021	JFH	Review and reply to correspondence from County re: bond form construction project	s for	0.50 \$210.00/hr	\$105.00
	AFL	Advisor #2021-8: New leave extensions under the American Re Act, Vaccinations, New Toolkit Updates and the ABC Collabora (time divided among all clients)		0.50 \$190.00/hr	\$95.00
3/29/2021	JFH	Review and reply to correspondence from County Attorney, bon counsel re: school project timing telephone conference with Superintendent re: same, virtual conference with architect re: same		1.75 \$210.00/hr	\$367.50
3/31/2021	KDS	Advisor re: PowerSchool addition of Preferred Name field (time among multiple clients)	divided	0.25 \$210.00/hr	\$52.50
	For pro	ofessional services rendered		19.25	\$3,946.25
	Additio	nal Charges:			
3/16/2021	JFH	Roundtrip to Franklin			\$78.40
3/31/2021	KWC	NC Admin of the Courts, Access fee, March 2021			\$1.05
	Total a	dditional charges			\$79.45
	Total a	mount of this bill			\$4,025.70
		Attorney Summary			
Name Campbell, C	hristoph	•	Hours 0.50		Amount \$105.00
Henning, Joh Shatley, K. D	n'		16.50 0.25	210.00	\$3,465.00 \$52.50
•					